CONTENTS

Spacer 8mm

Bolt M10 x 1.25 x 35
Washer Flat M10
Washer Spring M10

FK29

TACOMA REAR DRIVE SHAFT
SPACER KIT

QTY

NNDNDN

ORIGINAL CENTER JOINT

Installation Procedure

Loosen both of the original drive shaft
center joint retaining bolts.

Remove one bolt only and place spacer
between center joint and chassis.

Clamp in place using the supplied M10 bolt,
flat and spring washer.

Repeat on opposite side of center joint.

CENTER JOINT WITH FK29 FITTED

Spacer Tighten both bolts firmly.

20/10/2005

Page 1 of 1 3783183




